Feedback Analysis Report 2018-19

Feedback is an essential element of the learning process. The Students' Feedback on teaching learning process at Rashtrapita Mahatma Gandhi Art's and Science College, Nagbhid campus is designed to get formative feedback from students that can be used towards the improvements in the quality of teaching as well as student learning experiences.

This report analyses the feedback of the teaching skill, knowledge, Sincerity of the teachers which are given by the students. The feedback is taken on the basis of 9 questions which highlights performance of teachers as follows.

- 1. Knowledge base of teacher
- 2. Communication Skill
- 3. Sincerity/Commitment of the Teacher
- 4. Interest Generated by Teacher
- 5. Ability to integrate course materials with environment/other issue, to provide a broader perspective
- 6. Accessibility of teacher in and out of the class(includes availability of teacher to motivate further study and discussion outside the class)
- 7. Ability to design quizzes/tests/assignments/examinations to evaluate students understanding of the course
- 8. Provision of Sufficient time for feedback
- 9. Overall rating

weblink for Feedback availability with its action taken report https://feedback.rmgcollegenagbhid.in/

Department of Zoology Name of Teacher :- Dr. G. D. Deshmukh SEM-II

Batch : 2018-2019 | Branch : CBZ | Semester : II | Division : Class A

Faculty: Dr. Ganpat Deshmukh

Avg. Rating			College,/		2 30 30	97/260 = 7.68	0 0-46	14 ~ / = 98	54 * 8 = 432	142 * 9 = 127
Total	0 * 0 = 0	3 * 1 = 3	11 * 2 = 22	7 * 3 = 21	10 * 4 = 40	11 * 5 = 55	8 * 6 = 48	14 * 7 = 98	E4 + 0 - 477	
	0	0	3	0	1	0	0	1	1	20
Overall rating	0	0	3	0	1	0	0	1	1	20
		0	0	1	2	1	0	3	5	14
Provision	0			0	1	1	0	2	6	15
Ability to design quizzes/tests	0	0	1	0					6	13
Accessibility of teacher	0	0	0	2	0	0	4			
ability to integrate course materials	0	1	0	0	1	2	1	1	7	13
Interest	0	1	0	1	1	1 _	1	3	8	10
Sincerity/Commitment	0	0	1	2	1	1	2	0	5	14
	0	0	1	1	1	3	0	1	7	12
Communication Skill	0	1	2	0	1	2	0	1	8	11
Knowledge base of teacher				3's	4's	5's	6's	7's	8's	9's
Rating	0's	1's	2's							

Batch: 2018-2019 | Branch: CBZ | Semester: IV | Division: Class A

Faculty : Dr. Ganpat Deshmukh

Subject : Zoology

Rating	0's	1's	2's	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	0	0	0	0	0	0	0		
Communication Skill	0	0	0	0	0	0			2	19
Sincerity/Commitment	0	0	0	0	0		0	0	4	17
Interest	0	0	0	0		0	0	0	7	14
Ability to integrate course materials	0	0		ō	0	0	0	0	6	15
Accessibility of teacher	0		0		0	0	0	ī	5	15
Ability to design quizzes/tests		0	0	0	0	0	0	0	7	14
	0	0	0	0	0	0	0	1	4	16
Provision	0	0	0	0	0	0	0	2	2	17
Overall rating	0	0	0	0	0	0	0	0	2	19
	0	0	0	0	0	0	0	0	2	19
Total	0 * 0 = 0	0 * 1 = 0	0 * 2 = 0	0 * 3 = 0	0 * 4 = 0	0 * 5 = 0	0 * 6 = 0	4 * 7 = 28	41 * 8 = 328	165 * 9 = 148
Avg. Rating						National College			0 320	103 - 3 - 148

1841/210 = 8.77

Batch: 2018-2019 | Branch: CBZ | Semester: VI | Division: Class A

Faculty : Dr. Ganpat Deshmukh

Subject : Zoology

Rating	0's	1's	2's	31s	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	0	0	0	0	0	0	0	1	8
Communication Skill	0	0	0	0	0	0	0	0	1	8
Sincerity/Commitment	0	0	0	0	0	0	0	1	2	6
Interest	0	0	0	0	0	0	0	1	2	6
Ability to Integrate course materials	0 -	0	0	0	0	- 0	0	1	0	8
Accessibility of teacher	0	0	0	0	0	0	0	1	1	7
Ability to design quizzes/tests	0	0	0	0	0	0	0	1	2	6
Provision	0	0	0	o	0	0	1	0	1	7
Overall rating	0	0	0	0	0	0	0	1	1	7
Andrew Co.	0	0	0	0	0	0	0	1	1	7
Total	0 * 0 = 0	0 * 1 = 0	0*2=0	0 * 3 = 0	0 * 4 = 0	0*5=0	1*6=6	7*7=49	12 * 8 = 96	70 * 9 = 630
Avg. Rating					79	1/90 = 8.68				70 3-030

781/90 = 8.68

Name of Teacher :- Dr. R. J. Rudey SEM-II

Batch: 2018-2019 | Branch: CBZ | Semester: II | Division: Class A

Faculty: Dr. Ratnaprabha Rudey

Rating	0's	1's	2's	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	1	3	0	0	0	2	1	4	12
Communication Skill	0	0	1	1	1	1	1	1	6	11
Sincerity/Commitment	0	0	0	1	2	0	1	1	5	13
Interest	0	0	0	0	2	1	2	0	7	11
Ability to integrate course materials	0	0	0	1	0	4	0	3	5	10
Accessibility of teacher	o	0	0	1	2	0	3	1	1	15
Ability to design quizzes/tests	0	0	2	1	1	0	1	1	6	11
Provision	0	1	0	0	1	2	o	1	4	14
Overall rating	0	0	2	0	0	0	1	2	2	16
	0	0	2	0	0	0	1	2	2	16
Total	0 * 0 = 0	2*1=2	10 * 2 = 20	5*3=15	9*4=36	8 * 5 = 40	12 * 6 = 72	13 * 7 = 91	42 * 8 = 336	129 * 9 = 1161
Avg. Rating			Collec	TRANS	17	73/230 = 7.7	1			

Batch: 2018-2019 | Branch: CBZ | Semester: IV | Division: Class A

Faculty : Dr. Ratnaprabha Rudey

Rating	0's	1's	2's	3's	4's	5's				
Knowledge base of teacher					73	2,2	6's	7's	8's	9's
	0	0	0	0	0	1	1	2	3	13
Communication Skill	0	0	0	0	1	0		0	5	
Sincerity/Commitment	0	0	0	1	0	0	1	0		13
Interest	0	0	О	0	0	1		701.4	8	10
Ability to integrate course materials	0	0	0	1	0	0		2	3	13
Accessibility of teacher	0	0	1	0	0		1	4	2_	12
Ability to design quizzes/tests	1	0	0	0		0	1	1	6	11
Provision	0	0	0		0	0	1	3	4	11
Overall rating				0	0	1	1	2	4	12
Overali rating	0	0	0	0	0	1	1	0	5	13
	. 0	0	0	0	0	1	1	0	5	
Total	1 * 0 = 0	0 * 1 = 0	1*2=2	2*3=6	1*4=4	5*5=25	10 * 6 = 60			13
Avg. Rating						1644/200 = 8		14 * 7 = 98	45 * 8 = 360	121 * 9 = 108

Batch : 2018-2019 | Branch : CBZ | Semester : VI | Division : Class A

Faculty : Dr. Ratnaprabha Rudey

Rating	0°s	1's	2's	2'5	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	0	0	0	0	0	1	0	3	5
Communication Skill	0	0	0	0	0	0	Ö	1	0	8
Sincerity/Commitment	0	0	0	0	0	0	1	0	2	6
Interest	0	0	0	0	0	0	0	1	1	7
Ability to Integrate course materials	0	0	0	0	0	1	_ 0	0	2	6
Accessibility of teacher	0	0	0	0	0	0	1	0	0	8
Ability to design quizzes/tests	0	0	0	0	0	0	1	1	1	6
Provision	0	0	0	0	0	0	1	0	1	7
Overall rating	0	0	0	0	0	0	1	0	2	6
	0	0	0	0	0	0	1	0	2	6
Total	0 * 0 = 0	0 * 1 = 0	0 * 2 = 0	0 * 3 = 0	0 * 4 = 0	1*5=5	7 * 6 = 42	3*7=21	14 * 8 = 112	65 * 9 = 58
Avg. Rating	W. The	office and a second	Colleg	91/	-	65/90 = 8.50			14 0-112	05 - 9 - 583

Department of Botany Name of Teacher :- Dr. V. M. Mohture SEM-II

Batch: 2018-2019 | Branch: CBZ | Semester: II | Division: Class A

Faculty: Dr. Vikas Mohuture

Subject : Botony

Rating	01s	1's	2's	3's	4's	5's	6's	7's	B's	9's
Knowledge base of teacher	0	1	3	0	0	2	0	1	10	9
Communication Skill	0	0	1	1	4	0	1	1	6	12
Sincerity/Commitment	0	0	0	2	1	2	1	0	9	11
Interest -	0	0	0	1	- 4	0	2	0 +	10	9
Ability to integrate course materials	0	0	1	0	0	1	2	2	7	13
Accessibility of teacher	0	0	0	2	0	0	1	2	10	11
Ability to design quizzes/tests	0	0	1	0	2	0	0	3	7	13
Provision	0	0	0	2	0	2	0	2	9	- 11
Overall rating	0	1	1	0	1	0	2	2	5	14
	0	1	1	0	1	0	2	2	5	14
Total	0 * 0 = 0	3*1=3	8 * 2 = 16	8 * 3 = 24	13 * 4 = 52	7 * 5 = 35	11 * 6 = 66	15 * 7 = 105	78 * 8 = 624	117 * 9 = 1053
Avg. Rating	8		100	legan	1	978/260 = 7.0	61			

Batch: 2018-2019 | Branch: CBZ | Semester: IV | Division: Class A

Faculty : Dr. Vikas Mohuture

Subject : Botony

Rating	0's	1's	2's	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	0	0	0	0	2	0	3	3	13
Communication Skill	0	0	0	0	1	0	2	2	3	
Sincerity/Commitment	0	0	0	0	0.	1	1 1	3	4	13
Interest	0	0	0	0	0	1	0	4		12
Ability to Integrate course materials	0	_0	0	0	0	1 _	0	3	4	
Accessibility of teacher	0	0	0	0	0	2	0	3	4	_ 13
Ability to design quizzes/tests	0	0	0	0	0	1	1	3	4	12
Provision	0	0	0	0	0	1	1	4	2	12
Overall rating	Ö	0	0	0	0	1	0	3	3	13
	0	0	0	0	0	1	0	3	3	14
Total	0 * 0 = 0	0 * 1 = 0	0*2=0	0 * 3 = 0	1*4=4	11 * 5 = 55	5 * 6 = 30	31 * 7 = 217	31 * 8 = 248	14
Avg. Rating			New News	200		1733/210 = 8		31 /-21/	31 - 6 - 248	131 * 9 = 1179

1733/210 = 8.25

Batch: 2018-2019 | Branch: CBZ | Semester: VI | Division: Class A

Faculty: Dr. Vika's Mohuture

Subject : Botony

Rating	0's	1's	2's	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	0	0	0	0	0	0	0	1	9
Communication Skill	0	0	0	0	0	0	0	0	1	9
Sincerity/Commitment	0	0	0	0	0	0	0	0	1	9
Interest	0	0	0	0	0	0	0	0	3	7
bility to Integrate course materials	0	0	0	0	0	0	0	- 0	1	9
Accessibility of teacher	0	0	0	0	0	0	0	0	1	9
Ability to design quizzes/tests	0	0	0	0	0	0	1	0	0	9
Provision	0	0	0	0	0	0	0	1	1	8
Overall rating	0	0	0	0	0	0	0	0	1	9
的 是是一个人的。	0	0	0	0	0	0	0	0	1	9
Total	0 * 0 = 0	0 * 1 = 0	0 * 2 = 0	0*3=0	0 * 4 = 0	0 * 5 = 0	1*6=6	1*7=7	11 * 8 = 88	87 * 9 = 78.
Avg. Rating	He is the	No.	Nazav			(100 - 004				

884/100 = 8.84

Name of Teacher :- Mrs. Aroona Shende SEM-II

Batch : 2018-2019 | Branch : CBZ | Semester : II | Division : Class A

Faculty : Mrs. Aroona Shende

Subject : Botony

Rating	0's	1's	2's	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	1	1	0	2	1	0	2	7	12
Communication Skill	0	0	2	0	1	1	2	0	2	7641
Sincerity/Commitment	0	0	0	1	0	0	0	2	9	18
Interest	0	0	1	1	2	0	2	-	8	14
Ability to integrate course materials	0	0	0	1	1	2	0	4	5	11
Accessibility of teacher	0	0	1	2	0	0	2	2	2	13
Ability to design quizzes/tests	0	0	1	1	1	1	1	1	6	17
Provision .	0	2	0	0	1	2	0	1	7	14
Overall rating	0	0	0	1	0	0	2	2		13
THE SHAPE STATE	0	0	0	1	0	0	2	2	3	18
Total	0 * 0 = 0	3 * 1 = 3	6*2=12	8*3=24	8 * 4 = 32	7 * 5 = 35	11 * 6 = 66	17 * 7 = 119		18
Avg. Rating			na Mag		220	039/260 = 7.		17-7-119	52 * 8 = 416	148 * 9 = 133

Batch: 2018-2019 | Branch: CBZ | Semester: IV | Division: Class A

Faculty : Mrs. Aroona Shende

Subject : Botony

Rating	0's	1's	2's	3's	4's	5's	2'6	7's	2'8	9's '
Knowledge base of teacher	0	0	0	0	0	1	0	3	4	13
Communication Skill	0	0	0	0	1	1	0	4	4	11
Sincerity/Commitment	0	0	0	0	0	1	0	4	6	10
Interest	0	0	0	0	0	1	0	3	5	12
Ability to Integrate course materials	0	0	Q.	0	0	2	0 _	3	4	12
Accessibility of teacher	0	0	0	0	0	1	1	2	6	- 11
Ability to design quizzes/tests	0	0	0	0	0	1	2	2	3	13
Provision	0	0	0	0	0	2	0	2	5	12
Overall rating	0	0	0	0	0	1	0	0	7	13
	0	0	0	0	0	1	0	0	7	13
Total	0 * 0 = 0	0 * 1 = 0	0 * 2 = 0	0 * 3 = 0	1*4=4	12 * 5 = 60	3 * 6 = 18	23 * 7 = 161	51 * 8 = 408	120 * 9 = 1080
Avg. Rating			CNogo,Ne	501		1731/210 = 8	.24			

Department of Chemistry Name of Teacher:- Mr. N. G. Gode SEM-II

Batch: 2018-2019 | Branch: CBZ | Semester: II | Division: Class A

Faculty : Mr. Nilesh Gode

Subject : Chemistry

Total	0 * 0 = 0	4*1=4	7 * 2 = 14	8 * 3 = 24	9 * 4 = 36	9 * 5 = 45	10 * 6 = 60	12 * 7 = 84	55 * 8 = 440	146 * 9 = 131
	0	0	1	0	1	0	1	1	5	17
Overall rating	0	0	1	0	1	0	1	1	5	17
Provision	0	1	1	1	0	1	0	1	6	15
Ability to design quizzes/tests	. 0	0	0	4	0	1	1	1	7	12
Accessibility of teacher	0	0	1	0	2	0	2	2	4	15
Ability to integrate course materials	0	1	0	0	1	1	1	3	4	15
Interest	0	0	0	1.	_ 2	1	1	0	9	12
Sincerity/Commitment	0	0	0	1	1	1	0	2	7	14
Communication Skill	0	0	1	1	0	2	3	0	3	16
Knowledge base of teacher	0	2	2	0	1	2	0	1	5	13
Rating	0's	1's	2's	3's	4's	5's	6's	7's	8's	9's

Name of Teacher:- Dr. A. S. Nagpure SEM-IV

Batch : 2018-2019 | Branch : CBZ | Semester : IV | Division : Class A

Faculty : Dr. Atul Nagpure

Subject : Chemistry

Rating	0's	1's	2's	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	0	0	0	0	1	1	1	0	19
Communication Skill	0	0	0	0	1	0	1	0	1	19
Sincerity/Commitment	0	0	0	0	0	0	2	0	2	18
Interest	0	0	0	0	0	0	1	0	2	19
Ability to Integrate course materials	0	ō	0	0	0	2 -	0	1	0	19
Accessibility of teacher	0	0	0	0	0	1	0	1	0	20
Ability to design quizzes/tests	0	0	0	0	0	0	1	1	2	18
Provision	0	. 0	a	0	1	0	1	o	1	19
Overall rating	0	0	0	0	0	0	0	0	2	20
元从图 我们	0	0	0	0	0	0	0	0	2	20
Total	0 * 0 = 0	0 * 1 = 0	0 * 2 = 0	0 * 3 = 0	2*4=8	4 * 5 = 20	7 * 6 = 42	4 * 7 = 28	12 * 8 = 96	191 * 9 = 171
Avg. Rating				Napos, N	1	913/220 = 8.7	70			

Batch: 2018-2019 | Branch: PCM | Semester: VI | Division: Class A

Faculty : Dr. Atul Nagpure

Subject : Chemistry

Rating	0's	1's	2¹s	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	0	0	0	0	0	0	0	0	13
Communication Skill	0	0	0	0	0	0	0	0	2	11
Sincerity/Commitment	0	0	0	0	0	0	0	0	1	12
Interest	0	0	0	0	0	0	0	1.	2	10
Ability to Integrate course materials	0	0	0	- 0	0	0	0	0.	4	9
Accessibility of teacher	0	0	0	.0	0	0	0	0	4	9
Ability to design quizzes/tests	0	0	0	0	0	0	0	0	1	12
Provision	0	0	0	0	0	0	1	1	1 ()	10
Overall rating	0	0	0	0	0	0	0	0	1	12
大型表 自己的 等	0	0	0	0	0	0	0	0	1	12
Total	0 * 0 = 0	0 * 1 = 0	0*2=0	0 * 3 = 0	0*4=0	0 * 5 = 0	1*6=6	2*7=14	17 * 8 = 136	110 * 9 = 99
Avg. Rating			- Near		11	46/130 = 8.8	2	12.14		

Department of Physics Name of Teacher:- Dr. M. B. Matte SEM-II

Batch : 2018-2019 | Branch : PCM | Semester : II | Division : Class A

Faculty: Dr. Maneesh Matte

Subject : Physics

Rating	2'0	1's	2's	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	3	0	3	2	1	2	1	0	13
Communication Skill	0	0	2	2	2	2	0	5	3	
Sincerity/Commitment	0	1	1	0	0	1	3	4	3	12
Interest	0	_ 1	2	3	1	1	3	2	3	
Ability to integrate course materials	0	1	2	1	1	5	0	2	2	9
Accessibility of teacher	0	0	2	1	4	1	1	3	2	11
Ability to design quizzes/tests	0	1	2	3	4	0	3	2	1000	
Provision	0	2	2	1	1	2	2	1	2	9
Overall rating	0	5	4	0	0	1	0	0		12
	0	5	4	0	0	1	0	0	2	13
Total	0 * 0 = 0	19 * 1 = 19	21 * 2 = 42	14*3=42	15 * 4 = 60	15 * 5 = 75	14 * 6 = 84	20 * 7 = 140	2	13
Avg. Rating			Noo			1/250 = 6.52	14 0-84	20 - 7 = 140	19 * 8 = 152	113 * 9 = 1017

Name of Teacher:- Miss. Bharati Bawanthade SEM-IV

Batch : 2018-2019 | Branch : PCM | Semester : IV | Division : Class A

Faculty: Miss. Bharati Bawanthade

Avg. Rating

Subject : Physics

Rating	O's	1's	2¹s	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	0	0	0	0	2	0	3	4	12
Communication Skill	0	0	0	0	0	2	0	4	5	10
Sincerity/Commitment	0	0	0	0	1	1	0	2	6	11
Interest	0	0	0	0	0	2	1	2	3	13
Ability to Integrate course materials	0	0	0	- 0	0	3	1	- 3	6	8
Accessibility of teacher	0	0	0	0	1		0	3	5	11
Ability to design quizzes/tests	0	0	0	0	1	1	1	2	3	13
Provision	0	0	0	0	1	1	1	3.	3	12
Overall rating	0	0	0	0	0	2	1	2	3	13
	0	0	0	0	0	2	1	2	3	13
Total	0 * 0 = 0	0 * 1 = 0	0*2=0	0*3=0	4 * 4 = 16	17 * 5 = 85	6 * 6 = 36	26 * 7 = 182	41 * 8 = 328	116 * 9 = 1044

1691/210 = 8.05

Batch: 2018-2019 | Branch: PCM | Semester: VI | Division: Class A

Faculty : Miss. Bharati Bawanthade

Subject : Physics

Rating	0's	1's	2's	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	0	0	0	0	1	2	2	1	5
Communication Skill	0	0	0	0	0	2	1	2	4	
Sincerity/Commitment	0	0	0	1	0	1	1	2	1	2
Interest	0	0	0	1	0	1	2	1		5
Ability to Integrate course materials	- 0	0	0	0	0-	2	2	3	- 2	2
Accessibility of teacher	0	0	0	0	0	0	1	7	1	2
Ability to design quizzes/tests	0	0	0	0	0	0	2	1		2
Provision	0	0	0	1	0	1	2	2	5	3
Overall rating	0	0	0	0	0	0	1		2	3
	0	0	0	0	0	0	1	4	3	3
Total	0 * 0 = 0	0 * 1 = 0	0*2=0	3*3=9	0*4=0	8*5=40	15 * 6 = 90	4 20 ± 7 = 400	3	3
Avg. Rating				ac.Naghhio		R13/110 = 7		28 * 7 = 196	26 * 8 = 208	30 * 9 = 270

Department of Mathematics Name of Teacher:- Mr. Shirish Kamdi SEM-II

Batch: 2018-2019 | Branch: PCM | Semester: II | Division: Class A

Faculty: Mr. Shirish Kamdi

Subject : Mathematics

Rating	0's	1's	2's	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	2	2	0	0	3	1	2	0	14
Communication Skill	0	0	2	1	2	1	1	2	5	10
Sincerity/Commitment	0	0	3	2	1	0	4	2	1	11
Interest	0	0	_ 1	2	1	1	4	1	2	12
Ability to integrate course materials	0	2	1	2	0	2	2	2	1	12
Accessibility of teacher	0	1	1	3	3	3	1	0	1	11
Ability to design quizzes/tests	0	1	3	1	2	1	1	3	1	11
Provision	0	2	4	3	0	0	1	2	2	10
Overall rating	0	1	2	0	1	0	0	2	2	16
	0	1	2	0	1	0	0	2	2	16
Total	0 * 0 = 0	10 * 1 = 10	21 * 2 = 42	14*3=42	11 * 4 = 44	11 * 5 = 55	15 * 6 = 90	18 * 7 = 126	17 * 8 = 136	123 * 9 = 110
Avg. Rating			,	a Nagion	165	2/240 = 6.88				123 35110

Batch: 2018-2019 | Branch: PCM | Semester: IV | Division: Class A

Faculty : Mr. Shirish Kamdi

Subject : Mathematics

Rating	0's	1's	2's	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	0	0	0	0	0	2	4	6	10
Communication Skill	0	0	0	0	0	1	1	2	3	15
Sincerity/Commitment	0	0	0	0	0	0	1	2	3	16
Interest	0	0	0	0	0	0	1	3	3	15
bility to integrate course materials	0	0	0	0 _	0	0	2	3 _	4	13
Accessibility of teacher	0	0	0	0	0	1	- 1	3	3	14
Ability to design quizzes/tests	0	0	0	0	0	0	2	3	5	12
Provision	0	0	0	0	0	0	2	3	2	15
Overall rating	0	0	0	0	0	1	1	0	6	14
	0	0	0	0	0	1	1	0	6	14
Total	0 * 0 = 0	0 * 1 = 0	0 * 2 = 0	0 * 3 = 0	0 * 4 = 0	4 * 5 = 20	14 * 6 = 84	23 * 7 = 161	41 * 8 = 328	138 * 9 = 124
Avg. Rating		Marian				1835/220=	0.24			

Name of Teacher:- Miss. Nikhat Khan SEM-VI

Batch : 2018-2019 | Branch : PMCs | Semester : VI | Division : Class A

Faculty: Miss. Nikhat Khan

Subject : Mathematics

Rating	0's	1's	2's	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	0	0	0	0	0	0	0	0	5
Communication Skill	0	0	0	0	0	0	0	0	0	5
Sincerity/Commitment	0	0	0	0	0	0	0	0	0	5
Interest	0	0	0	0	0	0	0	0	1	4
Ability to integrate course materials	0 -	0	0	0	0	- 0	0	0	0	- 5
Accessibility of teacher	0	0	0	0	0	0	0	0	0	5
Ability to design quizzes/tests	0	0	0	0	0	0	0	0	0	5
Provision	0	0	0	0	0	0	0	1	0	4
Overall rating	0	0	0	0	0	0	0	1	0	4
	0	0	0	0	0	0	0	1	0	4
Total	0 * 0 = 0	0 * 1 = 0	0 * 2 = 0	0 * 3 = 0	0*4=0	0 * 5 = 0	0*6=0	3 * 7 = 21	1*8=8	46 * 9 = 414
Avg. Rating					440	/50 = 0 0¢				

443/50 = 8.86

Department of Microbiology Name of Teacher:- Miss. Leena Rahangdale SEM-II

Batch: 2018-2019 | Branch: CZMc | Semester: II | Division: Class A

Faculty: Miss. Leena Rahangdle

Subject : Microbiology

Rating	0's	1's	2's	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	0	0	0	0	2	1	0	1	2
Communication Skill	0	0	0	0	0	0	1	0	1	4
Sincerity/Commitment	0	0	0	0	1	1	0	0	. 2	2
Interest	0	0	1_	0	1111	1	0	0	0	3
bility to integrate course materials	0	0	0	1	0	1	1	0	0	3
Accessibility of teacher	0	0	0	0	1	0	1	0	1	3
Ability to design quizzes/tests	0	0	0	1	0	1	0	0	2	2
Provision	0	0	- 1	0	1	0	o	0	0	4
Overall rating	0	0	0	0	1	2	0	0	0	3
	0	0	0	0	1	2	o	O	o	3
Total	0 * 0 = 0	0 * 1 = 0	2*2=4	2*3=6	6 * 4 = 24	10 * 5 = 50	4 * 6 = 24	0*7=0	7 * 8 = 56	29 * 9 = 261
Avg. Rating		Tana	15000	1472	42	5/60 = 7.08				

Batch: 2018-2019 | Branch: CZMc | Semester: IV | Division: Class A

Faculty: Miss. Leena Rahangdle

Subject : Microbiology

Rating	0's	1's	2's	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	0	0	0	0	0	0	1	3	4
Communication Skill	0	0	0	0	0	0	o	1	2	5
Sincerity/Commitment	0	0	0	0	0	0	0	0	3	5
Interest	0	0	0	0	0	0	0	0	4	4
Ability to integrate course materials	- 0	0	0	0	ō	0	0	2	_3	3
Accessibility of teacher	0	0	0	0	0	0	0	1	9-1	6
Ability to design quizzes/tests	0	0	0	0	0	0	0	1	2	5
Provision	0	0	0	0	0	0	0	0	2	6
Overall rating	0	0	0	0	0	0	0	0	2	6
	0	0	0	. 0	0	0	0	0	2	6
Total	0 * 0 = 0	0 * 1 = 0	0*2=0	0 * 3 = 0	0*4=0	0*5=0	0*6=0	6*7=42	24 * 8 = 192	50 * 9 = 45

Avg. Rating

684/80 = 8.55

Department of Computer Science Name of Teacher:- Mr. Vaibhav Bhave SEM-II

Batch : 2018-2019 | Branch : PMCs | Semester : II | Division : Class A

Faculty: Mr. Valbhav Bhave

Subject : Computer Science

Rating	0's	1's	2's	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	0	0	0	0	1	0	0	0	4
Communication Skill	0	0	0	0	0	0	0	1	2	2
Sincerity/Commitment	0	0	0	0	0	0	1	0	0	4
Interest	0	0	0	0	1	0	_ 0	0	3	1_
Ability to integrate course materials	0	0	0	0	0	1	0	0	1	3
Accessibility of teacher	0	0	0	0	0	0	0	1	2	2
Ability to design quizzes/tests	0	0	0	0	0	0	0	0	2	3
Provision	0	0	0	0	0	111	0	1	1	2
Overall rating	0	0	0	0	0	0	0	2	1	2
	0	0	0	0	0	0	0	2	1	2
Total	0 * 0 = 0	0 * 1 = 0	0*2=0	0 * 3 = 0	1*4=4	3 * 5 = 15	1*6=6	7*7=49	13 * 8 = 104	25 * 9 = 225
Avg. Rating		1 - 2 - 2	Charles of	The state of the s	4	03/50 = 8.06				

Batch : 2018-2019 | Branch : PMCs | Semester : IV | Division : Class A

Faculty: Mr. Valbhav Bhave

Subject : Computer Science

Rating	0's	1's	2's	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	1	0	0	0	0	0	0	0	1	9
Communication Skill	0	1	0	0	0	0	0	0	4	6
Sincerity/Commitment	1	0	0	0	0	0	0	1	3	6
Interest	1	0	0	0	0	0	0	0	3	7
Ability to Integrate course materials	1	0	0	0	0	0	0	1	5	4
Accessibility of teacher	1	0	0	0	0	0	0	0	3	7
Ability to design quizzes/tests	0	1	0	0	0	0	0	1	3	6
Provision	1	0	0	0	0	0	0	0	3_	7
Overall rating	0	0	1	0	0	0	0	0	2	8
	0	0	1	0	0	0	0	0	2	8
Total	6 * 0 = 0	2*1=2	2*2=4	0 * 3 = 0	0 * 4 = 0	0 * 5 = 0	0 * 6 = 0	3 * 7 = 21	29 * 8 = 232	68 * 9 = 612
Avg. Rating			010	33	87	1/110 = 7.92				

Batch : 2018-2019 | Branch : PMCs | Semester : VI | Division : Class A

Faculty : Mr. Valbhav Bhave

Subject : Computer Science

Rating	0's	1's	2's	3's	4's	5's	6's	7's	8's	9's
Knowledge base of teacher	0	0	0	0	0	0	0	0	0	5
Communication Skill	0	0	0	0	0	0	0	0	0	5
Sincerity/Commitment	0	0	0	0	0	0	0	0	0	5
Interest	0	0	0	0	0	0	0	0	0	5
Ability to Integrate course materials	0	0	0	0	0	_ 0	0	0	0	5
Accessibility of teacher	0	0	0	0	0	0	0	0	0	5
Ability to design quizzes/tests	0	0	0	0	0	0	0	0	0	5
Provision	0	0	0	0	0	0	0	0	0	5
Overall rating	0	0	0	0	0	0	0	0	0	5
	0	0	0	0	0	0	0	0	0	5
Total	0 * 0 = 0	0 * 1 = 0	0 * 2 = 0	0*3=0	0*4=0	0*5=0	0*6=0	0*7=0	0 * 8 = 0	
Avg. Rating	0 0 0 7-0 0								0-6-0	50 * 9 = 450

450/50 = 9.00

Principal
Rashtrapita Mahatma Gandhi
Arts & Science College,
Nagbhid, Dist. Chandrapu